GJ\MAO

—O0

Shenzhen Qunmao Display Technology Co., Ltd

Quick Guide for R Series TV/IFP Mobile Stand

-
Use a wrench to install the Use 4 M8*20 hex socket Use 4 M8*20 hex socket
casters to the bottom of the screws + gasket to fix the screws + gasket to fix the
column hanging bracket on the middle tray on the middle
upper part of the stand part of the stand
f M8*20 screws
F’-} / r/'( ‘l"-.r..."-
X
: M8*20
SCrews

Casters

'I '.III "\;\\.\
I A Y

Packing List
QM-580-A
Item Parts Quantity

1 Stand 2

2 Upper tray 1

3 Middle tray 1

4 Upper bracket 1

5 TV hanging bracket 1

6 TV hanging bar 2

7 Casters 4

8 M8*20 hex socket screw 10

9 M6*50 Phillips screw 2

10 M6*10 Phillips screw 2

11 M5*10 countersunk screw 4

12 M6%*25 pan head screw 4

13 M8*25 pan head screw 4

14 M8 gasket 14

15 Increase pad (red) 4

16 Wrench 1

17 Allen wrench 1

18 Storage box 1
Hole distance of installation
R10 supports a maximum of 900 in the horizontal direction and 600 in the vertical direction, with a
maximum load-bearing capacity of 150KG.
R12 supports a maximum of 1100 in the horizontal direction and 600 in the vertical direction , with a
maximum load-bearing capacity of 180KG.

Phone: +86-15920011166

02

(03) .

Use Phillips screws to
assemble the upper tray with
the hanging bracket

M5 screw

o

Install the hanging bar to the
back of the TV with screws
suitable for the TV
mounting holes

Install
screw

]

\,

Install the hanging bar into
the hanging bracket and fix
the safety screws

Safety screw

web: WWW.sZqunmao.com

Email:info@szqunmao.com



